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i =
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A FI5E12 A K HHE
HT HK A0 (58) A (40) An GH
H #HT 493 410 395 805
AT 1,765 1, 666 1,789 3,455
JHET 980 898 834 1,732
== 1T 1,262 989 1,055 2,044
FFHT 1,968 1,821 1,912 3,733
JTHT 1, 657 1,705 1,847 3, 552
i 845 929 979 1,908
A AET 610 517 563 1,080
At ZEHT 894 856 889 1,745
BT 687 626 620 1,246
HAET1 T H 883 839 851 1,690
HARET2 TH 809 781 766 1,547
PEFTIR 1 T H 2,194 1,839 1,965 3, 804
VEETIR 2 T H 968 869 912 1,781
FRET 1T H 1,573 1,289 1,646 2,935
T2 TH 1,252 955 1,116 2,071
kAT 3 T H 1,439 1,427 1,530 2,957
T4 TH 2,897 2,668 2, 890 5, 558
SRHET 947 906 957 1,863
FRAEHT 1,200 1, 146 1,235 2,381
EFIT1 TH 512 446 492 938
EJFET2 TH 777 838 793 1,631
KT 3 T H 733 717 700 1,417
EJFIT4 TH 213 214 203 417
EJFET5 TH 482 456 504 960
AL P IR BT 1,107 1,128 1,076 2,204
[ B AT 1,603 1, 664 1,797 3, 461
FiEs 1,205 1,246 1,301 2,547
E1TH 425 460 495 955
tE 2 TH 636 743 750 1,493
tE3TH 476 535 525 1, 060
EE4 T H 404 514 496 1,010
FAZENT 1,401 1, 050 1,088 2,138
=L 724 693 730 1,423
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SFI54E12 4 K H BUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,025 826 1,019 1,845
ERNET 940 1,028 1,043 2,071
KETHH 169 96 152 248
[icg gzl 872 920 873 1,793
HOHTHHT 1,008 1,083 1,067 2, 150
KFEHE 1,748 2,039 2,008 4,047
KFFRIL 1,525 1,530 1,591 3,121
Al - /N 6,128 6, 329 6, 320 12, 649
KF T 4,957 5,414 5, 405 10, 819
KR EE 4,780 4, 557 4, 620 9,177
WAL 954 795 835 1,630
[EREa 497 406 410 816
S 1,537 1,382 1,488 2,870
EoE1TH 544 537 506 1,043
BEo=2TH 719 651 658 1,309
KFEA K 4,787 5,007 5, 058 10, 065
KFEFIE 3,407 3,631 3, 655 7, 286
KFA 11,062 11,510 12,061 23,571
K7 Eilin 2,000 2, 045 2,032 4,077
/INFFRET1 TH 2, 636 2, 325 2,705 5, 030
/INFFRET2 TH 1,285 1,228 1,195 2,423
/INFFRET3 TH 2, 437 2,195 2, 468 4,663
/INFFRET4 TH 1,574 1,491 1, 486 2,977
KEd s 1,062 1,162 1,141 2,303
KFEFE 2, 382 2, 556 2, 665 5,221
KFAH A A 718 613 712 1,325
== = 855 990 984 1,974
KFEdsit 78 111 90 201
1 T H 910 984 1,027 2,011
2 TH 983 1,093 1,118 2,211
B3 T H 875 781 896 1,677
B4 TH 676 690 791 1,481
w5 TH 790 792 872 1, 664
KFEWRZF 324 311 325 636
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A 15412 H K A BIE
my 4 A AR (B AR (&) AR GH
KT 204 249 232 481
KPR 810 944 974 1,918
RF-H HH 141 176 176 352
KFBTH 154 189 164 353
KFHIH 16 20 19 39
KFFE A 461 547 496 1,043
Pl 1 TH 1,052 1,017 1,131 2,148
il E2TH 1,135 1, 141 1,194 2, 335
=M1 TH 940 996 1,067 2,063
M2 TH 351 320 383 703
3 TH 832 846 885 1,731
A TH 1,187 1,124 1, 154 2,278
HRLAr 1 TR 1, 654 1, 481 1,612 3,093
WL F2 TH 1,424 1,547 1,552 3,099
Bkl 3 TH 789 832 934 1,766
WL F4 T H 364 225 307 532
WL E5 T H 160 151 174 325
WL 6 TH 595 485 579 1,064
Pl 1 TH 1,096 1,120 1,091 2,211
w2 TH 326 335 370 705
farE1TH 1,520 1,445 1,407 2, 852
My 2TH 687 722 743 1,465
M3 TH 853 824 838 1, 662
#1TH 277 342 300 642
H2TH 270 322 327 649
#3TH 1,393 1, 406 1, 459 2,865
= &1TH 361 435 402 837
= E2TH 190 221 223 444
= &3TH 291 358 338 696
=E4TH 429 487 454 941
—&5TH 673 708 699 1, 407
HEA 347 412 387 799
| 226 279 281 560
WA2TH 939 910 905 1,815
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S54E12H K HHIE
i) A A (59) AB (%) UNEGD)
WA3TH 2,039 1, 359 1,489 2, 848
WAR4TH 112 82 126 208
WA7TH 336 349 367 716
WA TH 1,557 1, 165 1, 394 2,559
FREAR1ITH 1,735 1,838 1,898 3,736
FRER2TH 946 1,010 982 1,992
1 TH 233 254 266 520
2 TH 487 594 630 1,224
It 3TH 1,037 1,134 1,169 2,303
4 TH 59 79 70 149
e [ B 357 427 402 829
bR T 622 564 636 1,200
AT IR 599 719 734 1,453
WETIR1 T H 1,475 1, 464 1,315 2,779
WATIR 2 T H 2, 382 2, 640 2,438 5,078
WRETIR 3 T H 1,546 1,628 1,450 3,078
WATIR 4 T H 455 534 478 1,012
WAETIR5 T H 813 780 736 1,516
RPTRFIE 1 T B 1,332 1, 449 1,288 2,737
WATRFIME 2 T H 1,343 1,378 1,329 2,707
WHTRAIE 3 T H 866 951 875 1,826
<TDEHE1ITH 440 297 373 670
<TDEH2TH 720 664 602 1,266
<TDEHE3ITH 873 719 810 1,529
HER 1T H 145 151 138 289
TER2TH 408 522 500 1,022
HEm 3 T H 549 608 592 1,200
TER4TH 595 644 643 1,287
MMRE1TH 677 753 775 1,528
MMRE2TH 709 765 836 1,601
INFFRFE1TH 551 606 667 1,273
INFEFRFE 2 TH 547 570 617 1,187
INFIRFE 3 TH 891 1,006 967 1,973
INFEIRFE A4 TH 802 978 964 1,942
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A 15412 H K A BIE
i) W A (59) AR (&) AR GH
INFHER 5 T H 559 756 683 1,439
/INFFERG 6 T H 604 594 623 1,217
/INFFEET 5 T H 584 600 593 1,193
WNFRRTET 1 T H 770 766 743 1,509
/WNFfRTET 2 T H 555 603 592 1,195
/NFFRTHT 3 T H 834 1,044 1,047 2,091
JEEFHHET 1 T H 92 107 116 223
LB 2 T H 26 36 21 57
¥ 1 TH 284 316 319 635
¥ 2 TH 155 184 184 368
¥ 3 TH 190 141 198 339
B 1 TH 98 123 122 245
kB2 TH 142 177 174 351
B3 TH 143 170 178 348
EFH1TH 828 814 819 1,633
E#FH2TH 1,257 1,379 1,336 2,715
EHFIE3ITH 1,404 1,563 1,562 3,125
EHFI4TH 1,338 1,431 1,562 2,993
EHFIESTH 1,711 1,917 1,942 3, 859
INEEE 886 968 966 1,934



















